Punjab University Journal of Mathematics (ISSN 1016-2526) Vol. 51(7)(2019) pp. 43-49

Neighborhood Properties for k-Uniformly Starlike Functions

Zahra Orouji*¹, Rasul Aghalary² ^{1,2} Department of Mathematics, Faculty of Science, Urmia University, Urmia, Iran. Email: z.orouji@urmia.ac.ir¹, raghalary@yahoo.com²

Received: 13 August, 2018 / Accepted: 29 October, 2019 / Published online: 01 May, 2019

Abstract. In this note, we define the class $S_p(\alpha, k)$ and introduce and investigate coefficient estimates, neighborhood property for functions in the class $S_p(\alpha, k)$. In addition we provide conditions such that the confluent hypergeometric function, belongs to $S_p(\alpha, k)$.

AMS (MOS) Subject Classification Codes: Primary 30C45; Secondary 30C50. Key Words: *k*-uniformly starlike functions, Hypergeometric function, Neighborhoods property, Pochhammer symbol.

1. INTRODUCTION

We show the set of all holomorphic functions g in the unit disk $E = \{z: |z| < 1\}$ which are

$$g(z) = z + \sum_{s=2}^{\infty} a_s z^s,$$
 (1.1)

with A and let S be the subclass of A consisting of univalent functions. Suppose that T be the subclass of S which are in the form

$$g(z) = z - \sum_{s=2}^{\infty} a_s z^s$$
 (1.2)

satisfies the conditions $a_s \ge 0$ (s = 2, 3, ...) with $\sum_{s=2}^{\infty} a_s < 1$. Also suppose that $S^*(\alpha)$ be the famous subclass of S which are starlike of order α .

Also suppose that $S^*(\alpha)$ be the famous subclass of S which are starlike of order α . Indeed $h \in S^*(\alpha)$ is equivalent to $Re(zh'(z)/h(z)) > \alpha$ in E. This subclass has so long history in geometric function theory (for example see [3, 4, 5, 7, 10]).

Let $a, b, c \in \mathbb{C}$ (the set of all complex numbers), such that $c \neq 0, -1, -2, ...$ It is well known that the answer of the ordinary equation

$$(1-z)z\varphi''(z) + [c - z(a+b+1)]\varphi'(z) - ab\varphi(z) = 0$$

is

$$F(a, b, c; z) = \sum_{s=0}^{\infty} \frac{(a)_s(b)_s}{(c)_s(1)_s} z^s$$

and the function $g(z) = zF(a, b, c; z), z \in E$, is called hypergeometric function. We note that $(a)_0 = 1$ for $a \neq 0$ and $(a)_s = a(a+1)(a+2)...(a+s-1)$.

The hypergeometric function plays an important role in various fields. We refer to [9, 11, 12] and references therein for more details about this function.

Finally, for $-1 \le \alpha \le 1$ and $k \ge 0$, we introduce a subclass $S_p(\alpha, k)$ of starlike functions in the following way

$$S_p(\alpha, k) = \{g \in S : Re\left(\frac{zg'(z)}{g(z)}\right) \ge k \left|\frac{zg'(z)}{g(z)} - 1\right| + \alpha, z \in E\}.$$
 (1.3)

This class is very famous and important in univalent function theory and relevant subclasses of it have been obtained by many authors such as ([8, 13]). We note that the case k = 0 reduce to starlike functions of order α and the case k = 1 reduce to uniformly starlike functions of order α . We also let

$$TS_p(\alpha, k) = T \cap S_p(\alpha, k)$$
 and $TS^*(\alpha) = T \cap S^*(\alpha)$.

Lemma 1.1. Let $0 \le \alpha < 1$, $k \ge 0$ and $\beta \in \mathbb{R}$. Then $Re(w) > k|w-t| + \alpha$ is equivalent to $Re[w(1 + ke^{i\beta}) - kte^{i\beta}] > \alpha$ where w and t are arbitrary complex numbers.

Lemma 1.2. Let $k \ge 0$ and $t \in \mathbb{C}$. Then Re(t) > k is equivalent to |t - (1 + k)| < |t + (1 - k)|.

2. COEFFICIENT BOUNDS

In this section we introduce an inequality that provide a necessary and sufficient Coefficient for functions in the class $TS_p(\alpha, k)$.

Theorem 2.1. Let $-1 \le \alpha \le 1, k \ge 0$ and $g \in TS_p(\alpha, k)$ be in the form (1.2). Then we have

$$\sum_{s=2}^{\infty} (s(1-k) + k - \alpha)a_s \le 1 - \alpha.$$
(2.4)

Proof. Let $g \in TS_p(\alpha, k)$ be in the form (1.2). By putting $w = \frac{zg'(z)}{g(z)}$ in (1.3) and by lemma 1.1, we obtain $Re(w(1 + ke^{i\beta}) - ke^{i\beta}) \ge \alpha$ or

$$Re(\frac{(1+ke^{i\beta})(1-\sum_{s=2}^{\infty}sa_sz^{s-1})-(ke^{i\beta}+\alpha)(1-\sum_{s=2}^{\infty}a_sz^{s-1})}{1-\sum_{s=2}^{\infty}a_sz^{s-1}})\geq 0$$

If $z \in E$ is real and tends to 1^- through reals, then we have

$$Re(1 - \alpha + \sum_{s=2}^{\infty} (\alpha - s)a_s + ke^{i\beta} \sum_{s=2}^{\infty} (1 - s)a_s) \ge 0.$$

Therefore

$$1 - \alpha - \sum_{s=2}^{\infty} (s - \alpha)a_s + k \sum_{s=2}^{\infty} (s - 1)a_s \ge 0.$$

Theorem 2.2. Let $k \ge 0$ and $g \in T$ be an analytic function of the form (1.2). Then the following condition is sufficient for g to be in the class $S_p(\alpha, k)$.

$$\sum_{s=2}^{\infty} (k(s-1) + s - \alpha) |a_s| \le 1$$
(2.5)

if $-1 \leq \alpha < 0$ and

$$\sum_{s=2}^{\infty} (k(s-1) + s - \alpha) |a_s| \le 1 - \alpha$$
(2.6)

if $0 \le \alpha \le 1$.

Proof. By lemma 1.1, we note that the condition (1.3) is equivalent to $Re(w(1 + ke^{i\beta}) - (\alpha + ke^{i\beta})) \ge 0$ where $w = \frac{zg'(z)}{g(z)}$. So by lemma 1.2, it is sufficient to show that $A \ge B$ where

$$A = |1 + w(1 + ke^{i\beta}) - (\alpha + ke^{i\beta})|$$

= $\left| \frac{(z - \sum_{s=2}^{\infty} a_s z^s) + (1 + ke^{i\beta})(z - \sum_{s=2}^{\infty} sa_s z^s) - (ke^{i\beta} + \alpha)(z - \sum_{s=2}^{\infty} a_s z^s)}{z - \sum_{s=2}^{\infty} a_s z^s} \right|$

and

$$B = |1 - w(1 + ke^{i\beta}) + \alpha + ke^{i\beta}|$$

= $\left| \frac{z - \sum_{s=2}^{\infty} a_s z^s - (1 + ke^{i\beta})(z - \sum_{s=2}^{\infty} sa_s z^s) + (ke^{i\beta} + \alpha)(z - \sum_{s=2}^{\infty} a_s z^s)}{z - \sum_{s=2}^{\infty} a_s z^s} \right|$

Let $M = 1/|1 - \sum_{s=2}^{\infty} a_s z^{s-1}|$. Therefore

$$A \ge M(|2 - \alpha| - \sum_{s=2}^{\infty} (k(s-1) + |\alpha - (s+1)|)|a_s|)$$
(2.7)

and

$$B \le M(|\alpha| + \sum_{s=2}^{\infty} (k(s-1) + |s-(1+\alpha)|)|a_s|).$$
(2.8)

So by the hypothesis, if $-1 \leq \alpha < 0,$ then by (2.~7) and (2.~8)

$$A - B \ge 2M(1 - \sum_{s=2}^{\infty} (k(s-1) + s - \alpha)|a_s|).$$

The last expression is non-negative by (2.5) and so g belongs to the class $S_p(\alpha, k)$. Also if $0 \le \alpha \le 1$, then by (2.7) and (2.8) we obtain

$$A - B \ge 2M(1 - \alpha - \sum_{s=2}^{\infty} (k(s-1) + s - \alpha)|a_s|).$$

The last expression is non-negative by (2. 6) and so $g \in S_p(\alpha, k)$.

The case k = 0 in two previous theorems leads to

Corollary 2.3. Let $g(z) = z - \sum_{s=2}^{\infty} a_s z^s \in T$ and $0 \le \alpha \le 1$. Then $g \in S^*(\alpha)$ if and only if $\sum_{s=2}^{\infty} (s - \alpha)a_s \le 1 - \alpha$.

Theorem 2.4. Let $-1 \le \alpha \le 1, 0 \le k < 1$ and let $g_1(z) = z$,

$$g_s(z) = z - \frac{1 - \alpha}{s(1 - k) + k - \alpha} z^s, s \ge 2.$$

If $g \in TS_p(\alpha, k)$ then we have $g(z) = \sum_{s=1}^{\infty} \lambda_s g_s(z)$ where $\lambda_s \ge 0$ and $\sum_{s=1}^{\infty} \lambda_s = 1$. *Proof.* Let $g \in TS_p(\alpha, k)$ has the form $z - \sum_{s=2}^{\infty} a_s z^s$. By Theorem 2.1 we obtain

$$\sum_{s=2}^{\infty} \frac{s(1-k) + k - \alpha}{1-\alpha} a_s \le 1$$

and so

$$a_s \le \frac{1-\alpha}{s(1-k)+k-\alpha}, \qquad s \ge 2.$$

Therefore we can set $\lambda_s = \frac{s(1-k)+k-\alpha}{1-\alpha}a_s$ for s = 2, 3, ... and $\lambda_1 = 1 - \sum_{s=2}^{\infty}\lambda_s$. Thus, $0 \le \lambda_s \le 1$ for each $s \in \mathbb{N}$ and $\sum_{s=1}^{\infty}\lambda_s = 1$. Also g(z) has the form

$$g(z) = z - \sum_{s=2}^{\infty} a_s z^s = z - \sum_{s=2}^{\infty} \frac{\lambda_s (1-\alpha)}{s(1-k) + k - \alpha} z^s$$
$$= \lambda_1 z + \sum_{s=2}^{\infty} \lambda_s (z - \frac{1-\alpha}{s(1-k) + k - \alpha} z^s)$$
$$= \sum_{s=1}^{\infty} \lambda_s g_s(z).$$

Theorem 2.5. Let $0 \le \alpha \le 1$ and $0 \le k < 1$. Also let $a, b \in \mathbb{C} - \{0\}$ and c > |a| + |b| + 1. Then the condition

$$\frac{\Gamma(c-|a|-|b|-1)\Gamma(c)}{\Gamma(c-|a|)\Gamma(c-|b|)}((1+k)|ab| + (1-\alpha)(c-|a|-|b|-1)) \le 2(1-\alpha) \quad (2.9)$$

is sufficient for the function zF(a, b, c; z) belongs to $S_p(\alpha, k)$.

Proof. Set zF(a, b, c; z). By Theorem 2.2, we need to show that

$$N := \sum_{s=2}^{\infty} [s(1+k) - (k+\alpha)] \left| \frac{(a)_{s-1}(b)_{s-1}}{(c)_{s-1}(1)_{s-1}} \right| \le 1 - \alpha.$$

According to $|(a)_s| \leq (|a|)_s$, we observe that

$$N \le \sum_{s=2}^{\infty} [s(1+k) - (k+\alpha)] \frac{(|a|)_{s-1}(|b|)_{s-1}}{(c)_{s-1}(1)_{s-1}}$$
$$= (1+k) \sum_{s=1}^{\infty} \frac{(s+1)(|a|)_s(|b|)_s}{(c)_s(1)_s} - (k+\alpha) \sum_{s=1}^{\infty} \frac{(|a|)_s(|b|)_s}{(c)_s(1)_s}$$

$$\begin{split} &= (1+k)\sum_{s=1}^{\infty} \frac{(|a|)_s(|b|)_s}{(c)_s(1)_{s-1}} + (1-\alpha)\sum_{s=1}^{\infty} \frac{(|a|)_s(|b|)_s}{(c)_s(1)_s} \\ &= \frac{|ab|}{c}(1+k)\sum_{s=0}^{\infty} \frac{(1+|a|)_s(1+|b|)_s}{(1+c)_s(1)_s} + (1-\alpha)\sum_{s=1}^{\infty} \frac{(|a|)_s(|b|)_s}{(c)_s(1)_s} \\ &= \frac{|ab|}{c}(1+k)F(1+|a|,1+|b|,1+c;1) + (1-\alpha)(F(|a|,|b|,c;1)-1) \\ &= \frac{|ab|}{c}(1+k)\frac{\Gamma(c+1)\Gamma(c-|a|-|b|-1)}{\Gamma(c-|a|)\Gamma(c-|b|)} + (1-\alpha)\frac{\Gamma(c)\Gamma(c-|a|-|b|)}{\Gamma(c-|a|)\Gamma(c-|b|)} \\ &- (1-\alpha). \end{split}$$

Therefore according to (2. 9), N is less than $1 - \alpha$.

In the following section we investigate neighborhood property of the functions belongs to the class $TS_p(\alpha, k)$. We remark that this property was introduced by Goodman [6] and Ruscheweyh [14]. See also [1], [2] and [15].

3. NEIGHBORHOOD PROPERTY AND APPLICATIONS

For $\eta\geq 0$ and a function f belonging to ${\cal A}$ of the form (1. 1), we let $(\eta,\rho)\text{-}$ neighborhood of f by

$$\mathcal{N}^{\eta}_{\rho}(f) = \{ g \in \mathcal{A} : g(z) = z + \sum_{s=2}^{\infty} b_s z^s, \sum_{s=2}^{\infty} s^{\eta} |a_s - b_s| \le \rho \}.$$

For e(z) = z, the identity function, we obtain

$$\mathcal{N}^{\eta}_{\rho}(e) = \{g \in \mathcal{A} : g(z) = z + \sum_{s=2}^{\infty} b_s z^s, \sum_{s=2}^{\infty} s^{\eta} |b_s| \le \rho\}.$$

Theorem 3.1. Let $0 \le k < \alpha \le 1$ and $\eta \le 1$. Then $TS_p(\alpha, k) \subseteq \mathcal{N}^{\eta}_{\rho}(e)$ where $\rho = \frac{2(1-\alpha)}{2-(\alpha+k)}$.

Proof. Let $g(z) = z - \sum_{s=2}^{\infty} a_s z^s$ be in a class $TS_p(\alpha, k)$. By Theorem 2.1 we obtain

$$\sum_{s=2}^{\infty} (s(1-k) + k - \alpha)a_s \le 1 - \alpha$$
 (3. 10)

and so

$$\sum_{s=2}^{\infty} s^{\eta} a_s \le \sum_{s=2}^{\infty} s a_s \le \frac{1-\alpha}{1-k} + \frac{\alpha-k}{1-k} \sum_{s=2}^{\infty} a_s.$$
(3. 11)

On the other hand, from (3. 10), we implies that

$$\sum_{s=2}^{\infty} a_s \le \frac{1-\alpha}{2(1-k)+k-\alpha}.$$
(3. 12)

Therefore by (3. 11) and (3. 12) we have

$$\sum_{s=2}^{\infty} s^{\eta} a_s \le \frac{2(1-\alpha)}{2-(\alpha+k)}.$$

Corollary 3.2. For $0 \le \alpha \le 1$ and $\eta \le 1$, we have $TS^*(\alpha) \subseteq \mathcal{N}^{\eta}_{\rho}(e)$ where $\rho = \frac{2(1-\alpha)}{2-\alpha}$.

The case $\eta = 1$ in Theorem 3.1 leads to

Corollary 3.3. Let $g(z) = z - \sum_{s=2}^{\infty} a_s z^s \in T$ and $0 \le k < \alpha \le 1$. If $\frac{g(z) + \epsilon z}{1 + \epsilon} \in S_p(\alpha, k)$, in which $\epsilon > 0$, then

$$\sum_{s=2}^{\infty} sa_s \le \frac{2(1-\alpha)(1+\epsilon)}{2-(k+\alpha)}$$

and equation is established for the following function

$$g(z) = z - \frac{(1-\alpha)(1+\epsilon)}{2-(k+\alpha)}z^2.$$

Theorem 3.4. Let $g \in T$ and $0 \le k < \alpha \le 1$. If $\frac{g(z)+\epsilon z}{1+\epsilon} \in S_p(\alpha, k)$, in which $\epsilon > 0$, then $\mathcal{N}_{\beta}(g)$ is a subset of $S_p(\alpha, k)$ where

$$\beta \le \frac{1-\alpha}{1+k} - \frac{2(1-\alpha)(1+\epsilon)}{2-(k+\alpha)}.$$
(3. 13)

Proof. Let $g(z) = z - \sum_{s=2}^{\infty} a_s z^s$ and $f(z) = z + \sum_{s=2}^{\infty} b_s z^s \in \mathcal{N}_{\beta}(g)$. This means that we have $\sum_{s=2}^{\infty} s |a_s + b_s| \leq \beta$. So by the hypothesis and Corollary 3.3, we obtain

$$\sum_{s=2}^{\infty} s|b_s| = \sum_{s=2}^{\infty} s|b_s + a_s - a_s|$$

$$\leq \beta + \frac{2(1-\alpha)(1+\epsilon)}{2-(k+\alpha)}$$

$$\leq \frac{1-\alpha}{1+k}.$$

Therefore we have

$$\sum_{s=2}^{\infty} \frac{s(1+k) - (k+\alpha)}{1-\alpha} |b_s| \le \frac{1+k}{1-\alpha} \sum_{s=2}^{\infty} s|b_s| \le 1$$

and by Theorem 2.2, $f(z) \in S_p(\alpha, k)$.

4. ACKNOWLEDGMENTS

The authors are very much thankful to the referees for useful suggestions and comments.

REFERENCES

- [1] O. Altintaş, Ő. Őzkan, and H. M. Srivastava, *Neighborhoods of a class of analytic functions with negative coefficients*, Appl. Math. Lett. **13**, No. 3 (2000) 63–67.
- [2] A. Catas et al., Neighborhoods of a certain class of analytic functions with negative coefficients, Banach J. Math. Anal. 3, No. 1 (2009) 111–121.
- [3] N. E. Cho et al., The bounds of some determinants for starlike functions of order alpha, Bull. Malaysian. Math. Sci. Soc. 41, No. 1 (2018) 523–535.
- [4] H. Darwish, A. Moneim Lashin and S. Soileh, Fekete-Szegő type coefficient inequalities for certain subclasses of analytic functions involving Salagean operator, Punjab Univ. j. math. 48, No. 2 (2016) 65–80.
- [5] P. L. Duren, Univalent functions (grundlehren der mathematischen wissenschaften 259, new york, berlin, heidelberg, tokyo), Springer-Verlag 1 (1983) 983.
- [6] A. W. Goodman, Univalent functions and nonanalytic curves, Proc. Amer. Math. Soc. 8, No. 3 (1957) 598– 601.
- [7] M. Hussain, Application of the srivastav-owa fractional calculus operator to janowski spiral-like functions of complex order, Punjab Univ. j. math. 50, No. 2 (2018) 33–43.
- [8] S. Kanas and A. Wisniowska, *Conic regions and k-uniform convexity*, J. Comput. Appl. Math. 105, (1999) 327–336.
- [9] Y. C. Kim and S. Ponnusamy, Sufficiency for gaussian hypergeometric functions to be uniformly convex, Int. J. Math. Math. Sci. 22, No. 4 (1999) 765–773.
- [10] N. Magesh, M. K. Balaji, and R. Sattanathan, *Subordination properties for certain subclasses of prestarlike functions*, Punjab Univ. j. math. **44**, (2012) 39–50.
- [11] A. Nadir and A. Khan, Marichev-Saigo-Maeda differential operator and generalized incomplete Hypergeometric functions, Punjab Univ. j. math. 50, No. 3 (2018) 123–129.
- [12] S. Ponnusamy, Close-to-convexity properties of gaussian hypergeometric functions, J. Comput. Appl. Math. 88, No. 2 (1998) 327–337.
- [13] F. Rønning, On starlike functions associated with parabolic regions, Ann. Univ. Mariae Curie-Skłodowska Sect. A. **45**, No. 14 (1991) 117–122.
- [14] S. Ruscheweyh, Neighborhoods of univalent functions, Proc. Amer. Math. Soc. 81, No. 4 (1981) 521–527.
- [15] H. Silverman, Neighborhoods of classes of analytic functions, Far East. J. Math. Sci. 3, No. 2 (1995) 165– 169.